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PART-1 ‘ 14x1a14= -

Answer all the questions. (Choose the correct answer I"rurn the give
four alternatives and write with the option code) . '

.A={a,b,p},B={2,3},C={p,q, 15} thenn((AC)XBJis

138", - *2)20 =" 3}12 - : 4) 16

'—Etf[x};' l+x®then * " |

) (xy)=f(x).T(y) . S M) 2T 1 (y)

3) Flxy) =T (x).T(y) ' 4) None of these

The least number that is divisible by all the numbers frum 1to 1ﬂ (both
inclusive) is ERPE . :
1), 2025 2) 5220 '+ 3)5025. 4) 252D

Condition fora, b, ¢ tobein AF is

) a+b | b+e i ' fa+c) -
I1].-‘:'=[ > ]2] a-{ Z'J _ .:.3]_b=a+c 4) &.—[ > )
If {x - 6)'is the HCF of x2 - 2x—24 and x2 - kx-B then the value ofkis

1)3 2)5 3)6 4)8 _
The values of a and b if 4x% —24x3 + 76x2 + ax + b is a perfect square are ~
1)100,120  2)10,12 3)-120,100  4)12,10

Transpose of a column matrix is LT e
1} unit matrix E}dfagunalmalnx 3) column matrix 4) row matnx

If p, q are two consecutive odd numbers andp +q, pq, x are Pythagnrean

triple then the value of X is
1) pq +2 2)p2 +¢?, dp+a)  ~ 42pg

If(s, ?} {3 p) and (6, 6) are collinear, then thevalueof pis
1)3 . . 2)6 .30 - 4)12

. : e ,
if slope of the line PQ is ',E?"'E“ slope of the perpendicular h};&ﬁtur of PQ

| | l 4)0
s. . NngE -8 aF o A
If col245° — sin260° = x. sin30°.cos30° then the value of xis

. Yy ,
' ' - .42

Nt 2\ AF ) |
(f the radius of the base of acone is lripled and the hEIght i5 duuhled then the .
ol ' 3)made 12 imes 4) unchanged

1) made 6 times  2) made 18 time o anis (EM) Pac -1

Kindly Send Me Your.Key Answers to Our email id - padasalai.net@gmail.com N



https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

13.

14,

16.-

17.

18.

10.

20,

21,

23
24

www.Padasalal.Net " . . www.Tranpsc.Con]

The mean of 11 observation is ?_.' if first term is increased by 1 second
termis increased by 2 and so on. What will be the new mean?

Nx+66 2 x+11 =K 47 +6
The probability of getting a job for a person is i;-.'lf the prabability of not

gefting the job is 3 then the value of x is . b,
N2 2)4 33 415

PART-II _
A"SWET"U"IUEEUEIH! {Queati;:n No. 28 Is compulsory) 10X2=20

Letfheafum:tmnf N —> N defined h!_.,rf{x} Ix + 2, xeN Firid the
images of 1, 2, 3.

Find the rational form of the number 123 .
x x—1 = ' B

1
. L] + - = P
SGIUE- I--" 1 I -2_

g (0409 73 8) ‘
FAd=1¢ 5 1 8= | 4 g]thenfind the matrix 3A~ 9B.

x+1 B=:—l A+ B

If-d="—7. B=""7thenfind 57 .

The perimeters of two similar tnangles ABC and PQR are respectively 36cm
and 24cm. If PQ = 10cm, find AB. '

You ardownloading a song. The percent y (in decimal form) of mega bytes

remaining to get downloaded in x seconds is giﬁ.rén byy=—0.1x+1 after

how many seconds the song will be downloaded completely?
The horizontal distance between two buildings is 70m. The angre ofdepression
of the top of the first building when seen from the top of the second building is

45°, If the height of the second building is 120m, find the height of the first
building, - -

. 1 . .
= tan@. secld
Prove that cosec 0 — sind .

The slant heightof a frustum of a cone is Scm and the radii of its ends are -
4::n1 andicm. F!nd its curved surface area.
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A snhd sphere ﬂm:l a solid hemisphere have equal total su rface area, F'mure
that the ratio of their volume is 3 J_ : 4. |

Adie is rolled and acoin s tossed simultaneo usty F1m:| the pmh ah!flty lhat »
thE die shows an ndl:l number and the coin shows head.

Find the standard deviation of first 21 natunal numbers.

_ Find the mean of first 100 odd natural numbers.

#

PART - 1Il

s

Answer 10 questions. (Question MNo. ;IE is compulsory). 1EI X 5 - 50

LetA The set of all natural numbers lees than 8, B=the set of all pnme
numbers less than 8, C = The set of even prime number, verify that

_[Arl'sB}IXC' =(4XC)n(Bxc).

2x + 7, - .r%—l'

‘If the function f R—}Rdeﬁnedbyf(‘t) =i =2 -2sx<y > then

. 3.:—2 xz3
f(1) -3/(4)
A G

Find the sum of all natural number between 300 and 600 {uhlch are
divisible by 7.

fSn=(x+y)+ (x2+xy+y2) + (3 +x2y +xy2 +y3) + .......... nterms then prove

o ) W (J’"]‘ ‘)].

X
t_hat{x-—y}ﬁn=|: x~1 y -

L

the value of {|]f{4}"}f{—-2] (Ilf}f{4}+3f(1){ V)

The hypotenuse of a right angled triangle is 25¢m and its penmeter Eﬁcm {:J

Frnd the length of the smallest side.

fr oy . (12 -7 6"
If A‘_— 13 B= 4 9 C= 3 o |verifythatA(B +C)=AB+AC.
Two vertical poles of -
heights 6m and 3m

are the value ofy. |
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36. Findthe areaof the quadnrateml fnnned by the pmnts (8,6). (3, 1), (=5, 12} _
" and (-4, 3). :

'3? Find the equation of a slraight line thruun_;h the intarse-:tinn of lines . -
Ex—Ey 2 3x+2y 10 and perpendmuiartu the line 4x— ?ya— 13 0.

tan A tan B + _tan.-.! culB sm.1

38. IfA+B=90%then provethat — ;- AsecB - costd

=_ml“_'ﬂ.

39. A nghlmn:uiar cylindrical cuntameruf base radius 6cm and height 15emis
full of ice cream. The ice cream is to be filled in cones of height 8cm and.’

base radius 3cm, having a hemispherical cap. Flnd the numl:lﬂr of cones
needed to empty the container. ‘

.#ﬂ'. Flnd the coefficient of variation of 24, 286, 33 37,29, 31

¥

, _ ~ November
41. Aperson chooses a date ~ [Mon| |4 |11]18(25
atrandom in November for
+_aparly. Find the probability Tue 5[12|19|26
~_ that he chooses. | W 6 (132027
Iy AMonday. T _%'hu 7 1142128
i) Wednesday F |11 8 11512229
iii) A Friday. .
iv) A Saturday (or) A Sunday. Sat |29 116)23)30
Sun|3(10(17 |24

42. Find the quadratic equation whose roots

P +q.

el
are and P21 Aiso find

- the nature of roots when p=2andq=3.

PART - IV ,
Answer all the questmns ' 2X8=16

43. a) Draw a triangle ABC of base BC = 8cm, [_ 60” and the hisecmr of |4. '_
" meets BCatDsuchthatBD = 6cm. (OR)

" . b)Draw a circle of radius 4.5cm. Take a pointon the circle. Drawthe tange nt
", atthat point using the alternative segment theorem.

44, a]l‘.lrawthegrraphufy 2x2 and hence solve 2:2-:—5 0. fﬂﬁ}
U}Dfﬂwmeﬂfﬂphﬂf? :-:2 5% — Eﬂm:lhenf:.naus.:»l*..nez:ai:2 5::-—14 0.

r.:rF‘ M‘b Pacr-4d
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